w8008

oz wpa A ppEndiX

T——zrur—? T= 20 ‘% r 54ud

- FlEFHE
EE:W=WatCp- W,

HIMEEE : g=9.80665 (m/sec?)

a7 Y — b OBMLR : E=E,=25.0x10° (N/m?)
Wi —KE— A b : I =BH?,12=9.8304 (m?)
B h=10(m)

-HE
m =8350.4x10% /g=851.504x10% (N - sec?,/m)

CRFRERK
k =3EL/ h*=737.28x10¢ (N/m)

- BAEEH

5 m
- [
7= \Fk

= 2n(85 1.504x10%,/(332.75%10%)] 2

=021(se) o . ‘%7\7% W\T\ 3*?7
- EAEBGER)

o ¥
=2. k

T 6 6 12
=2.0[2.07.35x 10 /(312.79 X 10)]

=0.21(sec) = [‘\ ﬁl—EL'I\‘F B#T

=6330-+0.5 - 4040.736=8350.4%103 (N) =8350 kN=8.35 MN

kh Wu (MN) khco Wu (MN) khco Wu (MN)
0.25 6. 330 1. 278 6. 330 1.138 6. 330
t=1s £=0. 21
UL 1 knco 0.25 0.25
LU 2 Knco 1.21 1.278
Knco 1.75 1.138

20

FORUMS



